EARAROBEEIERT — 2 N— IBISH —F

20135F3H23H () 13@KR1A

M C2+=# C24= #45%—# ECEE R
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1lglol=v/7402 H o4 Egigii 1:24.3 6-6-4-4 [39.3| — | 3 | 467 BE;;{?E 12)
= ’ 2 efmient)
RN=Y55L BiAL5Y = RN phidreet
olsl5|3WSUFv—F # 9 ;g%%’ 1:(25).2 2-2-2-2 |40.8| — | 1 | 525 ﬁ%g— (KiR)
< . 6 = —
RTIAFA =TT BYwAOyIIY— 19 s
3011 YL LD > 5 ?63%2&— 1:25.2 1-1-1-1 | 41.0| — 4 479 35);;— (KiR)
- . 7E
RiFaTLEN BIREAF IR e 48) | gy 1iss
47171732 KoB/2 HI 1:25.5 4-5-3-3 [(40.8| — | 2 | 492 E%i;?_ (KiR)
. 2
RELTHANAN BLFAFNTAE @ RELRN ™S
— 5 f 6 | WIABER 1:26.3 7-8-7-6 |40.3| — 5 509 | KA (EEM)
5|8|10| ¥ v =F T 54.0 (@) J P NEH
I N—F BiLZXRLZR © -4 Gt e
M I # 6 g%gg%% (1:28.5) 2-3-5-5 |43.8| — | 6 | 531 323 OKiR)
. 244 o) | ESET
LZNTTZXF— B:545T7574 (-2) #if:??/—L\
1 21439971 X 4 5 55%63%“1% :28.5 8-7-8-8 |42.4| — 10 | 505 ﬁizz (B%1@)
. /\j— A\ po p—
RiA{yamAYEY BT AN- v ¢ | pemragig
A A i o5 | S 1:28.7 9-9-9-9 |42.0| — 7 457 | EHE (KR)
gl7lg|71>77>%— 56.0 1 (B) £—247
I LIFRTLE— BOTYAL R v %) | mogos
“ 5 | FMEHA 1:28.7 10-10-10-10| 41.2 | — 9 457 | RINEE (KiR)
9 PN 4 Jr=<q 56.0 7av AEEEF
RAYYLTH LT BITRINL S 7 M4 | Srmatt kfexz—T0
=) — i 5 | BEEE 1:29.0 4-4-6-7 |44.1| — 8 420 | ZEF (KR)
K °E ZT;—;M:EV{W B:x—U7 e v o | B am
8 : = |
® 1—F—@EBIERL
1T=7r= 1,(3,5),(2,7),9,10,6,8,4
20—F— 1,5,3,2,7,9,6,10,8,4
Ja=5= 1,5,7,9,3,2,10,6,8,4
43—+ — 1,5,7,9,3,10,2,6,8,4
[ N5
B 9 750H 714K 5-9 330 e E 5-8 640M JEE 1-5-9 1,690
B B 9 250/ 1-9 940/ B = 5-9 520/ EE 9-5-1 9,000
5 150 1-5 490/ B H 9-5 1,880M
1 460M

ABICOVWTRDTEEERROODE. TR LIV,




